4 2 1 1
LOCKWASHER, NOTE 3 - SPLIT LOCKWASHER, 2 PLACES
HEN NUT, 2 PLACES, NOTE 3 HEX NUT, 2 PLACES, ASSEMBLED
LEVER, NOTE 3 — CASE SPLIT LOCKWASHER, 2 PLACES, NDTE 3
OFF RN BT A LICKEASER HEX NUT, 2PLACES, NOTE 3
STUD, 3/8-24 LNG-28
0N
\
-] b — F
1 -
U e )
I
1,500 (36101 =]

AL
LU90 (E5.40]

\)asn (35051

I 3 i B

|= 2640 [67.05] .
- 4000 [1.60) ——————=
HOTES:
1. RATING CONTINUOUS -175 AMP 6-12
24-36 VOLTS DE, INTERMITTENT - LODO AMPS
&-12-24-36 VOLTS DC, 15 SEC “ON" 5 MIN *OFF"
2 ALL ETEEL PARTS PLATED
3. HARDWARE ASSEMBLED
4. ALL DIHEMSIONS REFERANCE OMLY
-~ Revision Control Record Rar. Duweristien of Grenge ECH No.| - Dae | BRI SR I e e e %ﬁ%m Spacll Channtaditics;, Gole Heraee Co.—
™ Dewsripson of Chargs Behe. | Dem zml} 3-“?‘ M’P‘" - m?;.%“s?s'.".“:,'.:'.""“ @?ﬁ":mmmbww:m I
B H-O008"  +1 | BoRoaey Tnd mey not bn discloned, e -
aal — ERit B regrodutad, o b &ny otver way B 1 [ ey e e —— ! e e e
§ [y B — F party WHIOULING GO0 | s i | SWITCH, MASTER DISCONNECT -
— o Ry il [ o P
| i Pﬂlh..r M-284
| ronecmawm o [Beate: 1:1 [om yae [ Do e, [Pa.1 of 1 AB
3 - I




METRIC

i M 284-01

r—L‘EVER. ZINC DIE CAST. CHROME PLATED
HEX WNUT, 3/4-16. BRASS, 2 PLACES

LOCKWASHER
MOUNTING STEM, BRASS

UL LABEL
Y CASE, BRASS
HEX MUT, 3/8-24, BRASS, 4 PLACES

——— LOCKWASHER, 4 PLACES
—— STUD, 3/8-24, BRASS, 2 PLACES

]

=

e 38.10 —= e

l—— 101.60

NOTES:
1 SILVER LAMINATED CONTALT SURFACES
2. CONTINOUS RATING:
75 AMPS $-12-24-36 VOLTS DC
INTERMITTENT RATING:
800 AMPS 6-12-24-36 VOLTS DC
15 SECONDS ON, S MINUTES QFF
ALL DIMENSIONS REFERENCE OMLY
. ALL STEEL PARTS PLATED
. IGNITION PROTECTED DO MOT SCALE

SALE | DATE AN

L

et WAS DATE | BY |LET WAS CATE

v

e Cole Hersee Co. DT TR
T0 0LD COLONY AVENUE, BOSTOW, MA. USA. 02G7

[ ] BB owm Tl 2= | o\iiCH, MASTER DISCONNECT| M 284-01

ISSUED A | P | aaE &
Confidential Property of Cole Hersee

o HATEMAL | DRawN| TR | 4D
z 11 ZrBITY




Revision Control Record

LEVER, NOTE § —

SCREW #8-32 &
LOCKWASHER, NOTE 5

OFF

PE620 [66.54] —— |

SEE NOTE 4 @

NOTES:
L SILVERED CONTACTS
2 [-RING SEALED AT MOUNTING STEM
3 GASKET SEALED AT TERMINAL INSULATOR
4 PART NUMBER (M2B4-02> TD BE
STAMPED AT RANDOM
5. PARTS MpAY BE ASSEMBLED OR
SUPPLIED IN A PLASTIC Bag
&, RATING:
CONTINUOUS RATING
175 AMP 6-12-24-36 VOLT DC
INTERMITTENT RATING
1000 AMP 6-12-24-36 VOLT DC
15 SEC ON 3 MIN OFF

HEX NUT, NOTE S

LOCKWASHER, NOTE 3

HENCOL SEAL #13
—— CASE, BRASS

1-‘ 1500 [38.10] =i

1000 [23.40]

[ 4.000 [101.60] ————————"]

STUD, 3/8-24 UNF-ZA

Rav, Dercripion of Changs EChbo.| Dusie
NOTES T
RATINGS NOTE BEIE | DB

@

=

1,380 (35031

i g e B i e 8 T4 AP e
-y i e

P e o T S5 i vt o s s g g |

v e e e e e e ] LT Cole Hersse Co.
b I — 20 094 Calomy Mo, South Beaton, M, 02127
Phin: 8172082180 Weki

© iy
[ iy s o
@

et v seng b P 70 Perstn
1 ey e oy ek

Basrofon SWITCH, MASTER DISCONNECT

--T'!'u_ 1 15;.;“; J_g_;n_' 1114/80

Used
s

1E2 mo284-02 R




MM N
25.40 1.000
35.05 1.380
g i
104_60 4.000 - LEVER
v HEX NUT, 3/4-16. BRASS. 2 PLACES
LOCKWASHER
\ \ — CASE
HEX NUT, 3/8-24, 4 PLACES
\\ \ ‘
\ \ '\\ LOCKWASHER, 4 PLACES
OFF \ \ A STUD. 3/8-24, 2 PLACES
\ \\ \\ \
\\ | \
Wy \
\ \
H—
( 06654
[ Se—m———
38.10—~ = 2540 ~ - /
| 3505 |
L - 10160 : —
NOTES:
1, SILVER LAMINATED CONTACT SURFACES
2. CONTINOUS RATING:
175 AMPS 6-12-24-36 VOLTS D.C.
INTERMITTENT RATING:
1000 AMPS 6-12-24-36 VOLTS D.C.
15 SECONDS ON, 5 MNUTES OFF
3. ALL DIMENSIONS REF. ONLY BO NOT SCALE
JLET. AT DATE | B¥ |LET.| WAS DATE | &7 HATERSAL DRk | O AP | SEME DATE DRAWN
3] | Mﬁ] | H 12/28/58
.
P GATE SLUEFENTID
NS Hernes Co.
METRIC o e |SWITCH, MASTER DISCONNECT| M 2B4-A
1 e |- |wmes

| M 284-A

Confidential Property of Cole Hersee



	M-284
	M-284-01
	M-284-02
	M-284-A

